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@ 25cm @26cm ® 27cm

@ 28cm ® 29cm

B

AABE @0 ACBD(AAE-S)
AB:CB=BE:BD

BD = 28 x g = 20(cm)

28 :40 = BE : 20
BE = 14(cm)
+.BC = 40 - 14 = 26(cm)
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@ 6.5cm @ Tcm @ 7.5cm

@ 8cm ® 8.5cm

~&B
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AABP = AEDP ©]|E 2 APBD + o]5HAIZIgo| 22 BQ =
10cm ©]t},

APBQ £} ADBC ©f|A]

(PBQ = /DBC, /PQB = /DCB °|B2.&

APBQ@ADBC (AA H-2)
PQ:BQ=DC:BC°oP2PQ:10=12:16

. PQ=175(cm)
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o2 1Yo A AABCADFE©|tt. DES} DF Q| Zol&E 4, bE
AHESE Ao 2 el A2? (T, /A =/D, /B=/(F)

— b — a
@DE = i(cm), DF = i(cm)
@ DE = b(cm), DF = g(cm)
® DE = g(cm), DF = a(cm)
@ DE = b(cm), DF = a(cm)

® DE = 2b(cm), DF = 2a(cm)

BC:FE = AB : DFo|2.2 DF = g(cm)om.
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1)2:3:6=x:y:3 = 1:

2)2:3:6=x:3:y = 2:3:6

9
3)2:3:6=3:x:y = 3:5:9
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/ABE = /ACD, (BAE

(CAD o o, t} D
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@ AABC @ AAED © AAEF o ADFC
© AAFD o ACFB ® AABF o AADE
@ AABC ¢ AADC ® AABE ¢ AACD

@e.e 206 066 ®6 606

~&B

(ABE = /ACD, /BAE = /CAD ©|E2 & AABE @ aAACD
(AAE2)---®

AABC €} AAED ©f| A

/BAC = /EAD ,AB: AE=AC: AD

(- AABE @ AACD ) ©]E2 SAS 30|t}

AABC ¢ AAED (SAS &) -9




8. & 1¥oA AABC o ADCE®] Y, A C+= BE 9 9t} AB =
8cm, BC = 6cm, CE = 9em ¥ W], DF 9] do]x?

@ 6cm @ 6.8cm 3)7.2cm

@ 8cm ® 8.2cm

D ~
AABC ADCE°]EZ AB:DC =BC:CE
8:DC=6:9°]22 DC = 12(cm)

AEAB ¢t AEFC A /E & &%, /B = (FCE(-
AABC ¢ ADCE)

AEAB O AEFC (AA ©2)

EB:EC=AB:FCo|E& 15:9=8:CF

CF = 4.8(cm)

- DF =12-4.8 = 7.2(cm)
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@ AC° =CH-CB

AH —=BH-CH




